2025 AMTFIOIEHE MY - HS0AH(LH)

1. oaex
(ciol: 5
Al 2 Al E
= 20254 20254 ¢ %(B/A) = 20254 20254 ¢ %(B/A)
() 1xF =Zof £H(A) 2x =0 &H(B) (B-A) () 1xF FZofl £H(A) 2xF F=Z o &(B) (B-A)
Mo = 1,289,712 1,396,814 107, 102 08 (M & = A 1,289,712 1,396,814 107,102 108%
I 41,190 41,790 600 101% A2 735,833 741,851 6.013 101%
2 X 2 + ¢ 1,020,556 1,027,556 7,000 101% I 7,500 7,500 - 100%
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2 | & l = 1XF £Z2HA) | 2&F :HM(B) (B-A) 2 I .~ I = 1R} FHo&HA) | 22 = &4H(B) (B-A)
Ag =2 1,289,712 1,396,814 107,102 108% HNE 22 1,289,712 1,396,814 107,102 108%
Argi =2l A 41,190 41,790 600 1014  Ar=bl A 735,838 741,851 6,013 101%
Atgis=g A 3 41,190 41,790 600 101% Q1A A A 670, 185 676,598 6,413 101%
6.7 6.790 - 100% 201 484,466 484,466 - 100%
32,000 32,000 0 100%
2,400 3,000 600 125% Ee= 76,818 76,818 - -
CES=ENT A 1,020,556 1,027,556 7,000 101% NI 50,372 56,785 6,413
2x349 A 7 1,020,556 1,027,556 7,000 101% NEEETE 52,730 52,730 0 100
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NE=EES= 254,849 254,849 0 100%) Jlze | 6,374 6,669 294 105%
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ES A 76,155 76,155 0 100% NELD 2,000 2,000 - 100%
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Aol A 7 3,010 2,010/ - 1,000 67% JHE 2 10,900 10,900 - 100%
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JIE R 49 3,000 2,000 - 1,000 67% EsE 196,300 298,587 102,287 152%
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O A8 47,600 47,600 - 100%
A A 121,575 122,375 800 101%
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A A 108,600 108,600 - 100%
BNt 108,600 108,600 - 100%
A A 22,000 22,000 - 100%
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LI A 39,398 37,400 -1,998 95%
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2,400 2,000 600 129%] s mrisma s 4ol 3,000,000
Hxagee A 1,020,556 1,027,556 7,000 101% 1,027,556 483,807 523,249 20,500 = - - -
Hxagee 2 A 1,020,556 1,027,556 7,000 101% 1,027,556 483,807 523,249 20,500 - - -
= =0HExz 483,807,000
JIEME £ 401,985,000
483,807 483,807 - 100%| 3SSOt-HsEX|YAIY 29,122,000
CESI7HE SMSHALY 44,950,000
Z 20| 2IA} AZZs X YALY 7,750,000
AEEx=F N 268,400,000
JIEME 29 200,993,000
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ARRH| A 735,838 741,851 6,013 101% 741,851 338,910 378,352 300 1,500 22,791
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S SSottEE XY 39,632,400

T AR X 27H A 12,752,800

Mg - SEF7H| A 49,412,060

IHEME 29 46,408,040

=g 76,818 76,818 - 100% ZESOILIEE XY 3,004,020
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Ut AH| g | 55,478 54,784 |- 694 99% 54,785 19,404 19,404 300 1,500 14,177
£84H| Y $48 Al 8,607,760
CMS/™=7| & 3,269,600
T8H ¥ =57 1,500,000
FEHH TR 8,308 8,608 300 104%| AR=2= 300,000
7| Etg=&H| 1,000,000
AT | Z A 1,383,520
J|ElESE 1,154,640
ofH| A 2,800,000
04| 6,000 2,800 |- 3,200 47%|  Al2lody] 1,800,000
Al 2| odH] 1,000,000
a3ed 8,800,000
A2
zzes 8,800 8,800 - 100%| 1=¥ 3,000,000
3323 5,000,000
7EIS8RF 800,000
HAM o A 5,896,698
H A==
A B2 5,596 5,897 300 105%| IS 1,896,698
H M3zt 2,500,000
AESAEYE 1,500,000
A2 A 2,980,012
x| 3,274 2,980 |- 294 91%| xSF Y Hu|gx S 1,500,000
A4 D EH| 1,480,012
7|Er2 | A 25,700,000
Z|2lolME| 2
7| Ete | 23,500 25,700 2,200 1099%| SEME= 14,000,000
B el mg| 3,700,000
7| Et2 8,000,000
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10,900 10,900 100% ifoﬁd?ﬂ% 3,000,000
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SR 1,000,000

Atell 2] X|2lely ztz 1,200,000

XA ol 1,000,000
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AP A A LS X Y-SR 2IIE AL S (A E2Y) 5,000,000

=] 5,000,000

slat=a|x| 175,801,886

121710 M EISLE A 5,500,000

AHA 107 AADSHL 5X =20 3,000,000

LA EE =2 1§ 3,700,000

J|EtR = ALY 3,000,000

47,600 47,600 100% 47,600 | 21,300 | 21,300 | =
1548 A 47,600,000

47,600 47,600 100%| CHEEIIE XX (ns&3h|) 42,600,000
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=Ll Aped| | 121,575 122,375 800 101% 122,375 7,905 7,905 - 77,800 28,765
7153} glsle X9 S SA A 122,375,105
Ztot7t= Z E0| 2Rt Clo| S A 2,500,000
Tt At el 5,000,000
et z2 13y 1,500,000
QIAZNM 3 ZSH oAl -hEE st A 2Lt 7,320,280
JISR S Z 2 Oy -2 MIIESH 879,720
JtE st 2 ¥ -ttt S| 4,000,000
=3} s Ct=ct= 42,000,000
S X3 121,575 122,375 800 Bl xjo| 20,300,000
SA 101% Nmsazay 5,000,000

SRS =Nl ,000,
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ALE| =X HEAE 2,000,000
7| 2hg ok 1,000,000
IR Z 2 OY-AN IS RS2 2,000,000
E=rn 9,790,000
AN Z 22 2,000,000
2uelas 310,060
7tE &S0l 5,500,000
A 7 108,600 108,600 - 100% 108,600 | 52,700 52,700 - - | 3,200
SASALH| - 2l AHH| A 74,156,000
o|5elof Metelad olzdu| 38,046,000
StHo] MEeld ol 36,110,000
SAsAGH| - 29H| A 5,000,000
= Al el ALod _ . 29| 5,000,000
SA S| 108,600 108,600 100% = M EATEE] - ATl AN
Atdd] (0| Z0{2 Y eHE) 15,700,000
AQPH|(ZIE2E 5) 44,000
Atdu|(Z =02l A}) 10,500,000
AbdH| 3,200,000
2 A 22,000 22,000 - 100% 22,000 - - - =) 22,000
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